TRARTA & - (A =9 - 9RER 991e®)
TECHNICIAN B (CHEMICAL OPERATOR - ATTENDANT OPERATOR))
g H./POST NO. 1412

1. MSDS =ar g/What is MSDS?
(A) #ERTe TR tos f3iecsgereT f@eeaA/Material Storage & Distribution System

(B) Afee ¥erat 3% f@¥ea/Multi Storage Deck System
(C) #&RTer awer srer efie/Material Safety Data Sheet
(D) #1® Thister segsr feeaA/Mass Scanning Deluge System

2. AT oOrd AR 989 O & §ig @ GEY 1497 87
What is the relationship between Orificemeter diameter and pipe diameter?

(A) AT g1, 9189 AT & FH gl
Orificemeter diameter is equal to the pipe diameter
(B) TyATdY <uTd, 9ISY <ATH H UF TS g

Orificemeter diameter is one fourth times the pipe diameter
(C) Tgardr =arw, 9189 <ard 0.5 [ &

Orificemeter diameter is 0.5 times the pipe diameter
(D) AT =, 9IS SO H1U fdeTse |
Orificemeter diameter is one third times the pipe diameter

3. el T his-AT F[UTEr qrgdl & o= gTiardl & HROT giall 87
Which property of the fluid accounts for major losses in pipes?

(A) sdrsgar/compressibility
(B) geica/density
(C) faferse getca/Specific gravity

(D) eareAar/viscosity

4. 34T AT ... & =11 g/A Drill bit is made up of..................

(A) ®eetere et/ Stainless Steel

(B) 3Ta e Tra/High Carbon Steel
(C) fa#=1 e Térat/Low Carbon Steel
(D) fReat eier/Wrought Iron



5. Yey g¥ & TH dcid ¥ 10% 1 ol § gfearia fhar sar @ 3R @ gfehar & e ar
aIETAT ST g1 e aX & 3T # q¥ ... J

From a container having pure milk, 10% is replaced by water and this process is repeated
three times. At the end of the 3™ time, the milk is .........

(A) 74.2% esr/pure
(B) 72.9% <re@/pure
(C) 76.2% <re@/pure

(D) 70% sre@/pure

6. wh g g T (&) & ... Fr Tg—IaT ¥ AT 8/
A broken tap is removed with the help of ........

(A) &=ir/Chisel

(B) ®&=/Pin

(C) ¥ez fasasan/Stud extractor
(D) gtsr/Hammer

7. b, A WR F T faard @fast g1 & daa aaeeaea kR & fhdar #7@% (NaCl)
3ufeud 87
One of the essential minerals in the human body is salt. How much salt (NaCl) is present in
an average adult human body?

(A) 250 7irA/g
(B) 540 am#/g
(C) 700 am#/g
(D) 1230 7irA/g

8. 3R 3T Ueh TIH & ddreld foHdsla & X 3R fFe 9% o, af a1 gen?
If you fill a glass to the full to the edge with ice water and the ice melts, what will happen?

(A) §F gt & gRafda g W Tom & S8 Acanfad gref|
The glass will over flow as the ice turns to water.
(B) 7o & el TR % & Rgeer 9 3maRafda wam|
The level of water in the glass will remain unchanged as the ice melts.
(C) % & Rges 9 7amTH & STof TR A gool A fRmae gel|
The water level will drop slightly as the ice melts.
(D) a% Ster & o187 Rreerst
Ice will not melt in water



9. faFafaf@a & @ &l 3cpse 3 &/Which of the following is a noble gas?

10.

(A) grzsre=i/Hydrogen
(B) argerst=t/Nitrogen
(C) #=r=r/Chlorine
(D) gferm#/Helium

Th g WA-hATR Afchel fafdiest goadAle HEamarel vh & ded & AT # o gl
ST &

Atoms of the same element having same atomic number but different mass number are
called .....

(A) g#aTaId/ Isomers
(B) wHs1R/ Isobars

(C) sa=geif=r/Isotones
(D) waEufaw/Isotopes

11. A &$r 37 B $r 3 10%318 g1 B & 3max A $r 33 9T FT gl

A’s income is 10% more than B’s income. B’s income is less than A’s income by about

(A) 7.50 %
(B) 10 %

(C) 8.33 %
(D) 9.09 %

12. farafaf@a adt & ger &7 @i @ W gerdf &1 wdd ga afa & F aRdr 87

Which one of the following types of file, can cut materials faster?

(A) ¥ we/Rasp cut
(B) f&srer e/Single cut
(C) s« we/Double cut

(D) &=vzg &e/Second cut

13. U WA & Fah H ... enfAer &/The nucleus of an atom contains ..................

(A) 7ggTs a gelereiat/Neutrons and electrons

(B) =ggie @ gier/Neutrons and protons

(C) =ggie1, selercista wierst/Neutrons, electrons and protons
(D) setacieia gters/Electrons and protons
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14. 3-]T?31ﬁ|T=F ad gRoY & EashReE ... g/Who is the inventor of the Modern Periodic Table

(A) srdex/Carpenter
(B) wArsret/Nobel

(C) ¥xwrs/Rutherford
(D) #Azelra/Mendeleev

15. “gfaad” &1 AFF ...... 2/The unit of “stress” is .....

(A) are/Watt

(B) =ge=1/Newton
(C) gresrer/Pascal
(D) siet/Joules

16. AgaT Udiier HTad GROT H &id-8 ded & fow g7
The symbol Ag stands for which element in the Periodic Table?

(A) Tré)/Silver

(B) are/Mercury

(C) vfeeasii/Antimony
(D) &r=1/Gold

17. OQ 9TATI] T FGT gl Sl § [T golecial T Jolar F WieT 3ifew §?
What do you call an atom that has more Protons than Electrons?

(A) =omZ=t/an anion
(B) waEafaren/an isotope
(C) er=trget/a cation

(D)31o1/a molecule

18. raTss yerdf & Uvor & foT fFE 3ure &1 yAer fRar arar 87
Which tool is used for grinding carbide materials?

(A) Yefafeas sfferarss g/ Aluminium oxide wheel
(B) fafesria swreTss egrer/Silicone carbide wheel

(C) é”= grer/Diamond wheel

(D) ®RE#H <grer/Corundum wheel



19. yayess gyor IS FH 0T ... &/The angle of drill grinding gauge is

(A) 59°

(B) 118°
(C) 121°
(D) 124°

20. fAEfaf@d & i He roedf g2
Which among the following is an artificial abrasive?

(A) Yeffafage sfearss/Aluminium oxide
(B) wAA/Emery

(C) é~=/Diamond

(D) Rs#A/Corundum

21. faegd 3ucisy ¢l gl 1 Pufq & el & ydua & fov Aefaf@d dus At & @ fraer
39T fRar e &7

Which one of the following drilling machines is used for drilling holes where electricity is
not available?

(A) s/ auer AM=T/Bench drilling machine

(B) feerk ayer #ef=t/Pillar drilling machine
(C) 387 aerst #A2h=/Radial drilling machine
(D) e geer Af=r/Ratchet drilling machine

22. 7 & U A YU & AT Mad F T FH 3UAT g7 HAT ST {1 STHT FAT FROT §?
Tap water is not used as coolant while drilling. What is the reason for this?

(A) saeT efideleT gaTd 319ared g/lts cooling effect is insufficient

(B) s&& H&IROT g |haT /It can cause corrosion

(C) I ausT &1 el UfhdT &1 A aXal o It decreases the cutting action of drill
(D) 7€ §gd STedr aTfeud gielr g/t evaporates quickly

23. Uk ®&T Y T IUA ... /A rough fileisused ...............
(A) faafaa sd% faw fRar smar &/0On irregular job
(B) geTfcr & T Y @& oel & forefehar sirar g/To reduce the metal rapidly
(C)e®ar ox forar Srar §/0On wood

(D) #=gor ¥ @1 eqderstdr & faar sirar g/1f smooth file is not available



24. UH TATCH H e Fa W, T @ W dAdar = Rufa 7, Fafef@a st & sia
ge & GARISIT F Tl 57

Which one of the following reamers can adjust itself in case of slight misalignment when
fitted on a tailstock?

(A) gATaR aRfegen/Parallel reamer

(B) o aRfSesh/Taper reamer

(C) wararsa gRfdgsh/Adjustable reamer
(D) werar gRkfdgar/Floating reamer

25. Y &Y &THAT T ... F T F FAcgFa Far Sar gl

The capacity of a lathe is expressed as

(A) arerst 3R dat & @ i gfi/Swing and distance between Centres
(B) 95 i@t 3R @& a91/Bed length and spindle speed

(C) 3regufda 3R T =ara/Horsepower and chuck diameter

(D) gor uree 3R 3R oy grae/Tool post size and lathe travel

26. fArAtaiad gRfSgehl # Ha @rar god el & IRBeor & v @9y &7 & 39ged aRiSas
FleT B2

Which of the following reamers is particularly suitable for reaming holes having keyway
grooves?

(A) ¥ wees gRfeesh/Straight fluted reamer
(B) gfereporreres aRfegen/Helical fluted reamer
(C) e aRfesh/Taper reamer

(D) ursere aRfdge/Pilot reamer

27. °C’ 3ifehd Toh Uil ush e=ifaf@d fone 3raest & &= 7
A grinding wheel marked with ‘C’ is made with which of the following the abrasive?

(A) @1e=T gEaTd/Carbon steel

(B) faferear wratgs/Silicone carbide
(C)érr/Diamond

(D) ®R=sA/Corundum



28. Th dg Ps HoR HI U H A 9 Holel o1 &1 58 hofal T TfhdT T FAT FHET S 87?
A drop of food colour when added to water, starts spreading out. What is this transport
process called?

(A) fagzur/Diffusion
(B) gxr&xer/Osmosis
(C) faeazur/Effusion

(D) Tegzrei/Elusion

29. 3R 1291 &1 T Hed,8ual & fashd Hod & FART &, o ot gfderd ... gl
If the cost price of 12 pens is equal to the selling price of 8 pens, the gain percent is?

(A) 12%
(B) 50%
(C) 30%
(D) 60%

30. T oY T WY WisT &a 3fward g/When is the chip breaker essential on a lathe tool?

(A) Foifta derf & ader & fere/Turning hardened materials
(B) gerar g & adel & fere/Turning cast iron

(C) d=a dgerdt & ad«T & ferw/Turning ductile materials

(D) g werdt & dcde & faw/Turning soft material

(A) g #RT & feea/Deburring hole ends

(B) @& 3R # g S a1 #&/Enlarging the hole to accurate size
(C)ymifza &g & gRasen/Finishing the cored hole

(D) dishe oY g7 1 gAEISIT axe1/Accommodating socket head screw

32. oy 7T TEA ... ¥ garar sar g/Lathe Machine bed is made of

(A) 3=a fasrg-seard/High alloy steel
(B) 3=a @mest gEard/High carbon steel
(C) @erar arer/Cast iron

(D) 71g s¥ard/Mild steel



33. v oy 7N & e TaTeleT & R o 9T FURUIA: FSH HA Eiell 87
During which operation on a lathe machine, the spindle speed is usually the least?

(A) gezor/Parting off

(B) stei=1/Knurling

(C) gaw=/Drilling

(D) @« & 3id #/Finish turning

34. 50 R 71T gfolar A ¥ T WIURUT: T HOMcHAS Johel HI0T AT S1elm 872
On which of the tooling given below, is a negative rake angle generally provided?

(A) 3Ta e gEara/High carbon steel
(B) €e¥ea wrarss/Tungsten carbide
(C) ger sEurd/Tool steel

(D) 3T aer gEura/High speed steel

35. kg/m*aT=e ... & forw wgaa R smar §/The unit kg/m? is used for............

(A) 3maas1/Volume
(B) faferse getca/Specific gravity
(C) getcal/Density

(D) arsi/Pressure

36. ........ F Ao T JoT T TAS FOAT H §erAT ST JohdT gl

Permanent hardness of water may be removed by the addition of ................

(A) arefma qedeTe/Potassium permanganate
(B) ter#A/Alum
(C) ==m/Lime

(D) @fsgar sEfsie/Sodium carbonate

37. TUR VT HEE! AT & TAT TFFA ITERT ... gl

The instrument used to measure the angle of taper accurately is ..........

(A) afe=Resaer reeex/Vernier bevel protractor
(B) sae dicerex/Bevel protractor

(C) ¢ux da1/Tapper gauge

(D) saer 3t=1/Bevel gauge



38. Hieste H TgFT HET Ferd ... g/Principal material used in soldering is ................

(A) a& g ga1/Copper and Tin
(B) @& @ d@rar/Copper and Lead
(C) ger g @rar/Tin and Lead

(D) gerg @ ara/Zinc and Copper

39. des & 3T YPR HI, THHH Toel FF dR T R do qAiford fmar srar g, ... FET ST gl
Type of welding in which plates are joined edge to edge is called

(A)#s aesa/Butt welding

(B)ge# =¥ deser/Lap welding
(C)aR aess1/Edge welding

(D)se#t & +1g & w€i/None of these

40. v fqer s & el fAeifad o @.énvd.) 3qer ... & v Fega: [SFeR &
Total suspended solids (T.S.S) in a solution are mostly responsible for its

(A)arer/Odour

(B) Tare/Taste

(C) 3nfaerar/Turbidity
(D) gut/Colour

41. TRR dYeedr arer Tsh IRUY F 39K GfaAy dedr g, ar arT ... gl

If the resistance in a circuit with constant voltage increases, the current will...........
(A) sesft ar waA/increase or decrease
(B) =#/decrease
(C) sgsh/increase
(D) far wgef/remain constant



42, G q¥ 3Midrel YRIHT & AT, EF ¥ Sedarel ORI & AT & AT gei| Ri¥a e
gl

The sum of the currents arriving at the junction is equal the sum of the currents leaving the
Junction. The stated law is

(A) =gea1 @1 e f@g#A/Newton’s third law

(B) 13 &t gfadr fagaA/Faraday’s second law

(C) frr@w & gfada faga/Kirchhoff’s second law
(D) faox@r® &1 ggenn f3g#/Kirchhoff’s first law

43. T olex ferdeT A feler fdela 1 a6 TAded T&IT & IHA ... gl oI gl
Number of gram equivalent of solute dissolved into one liter of a solution is called its

(A) FmH-3ro1eRdr/Molarity
(B) gir&-3mmotadar/Molality
(C) magew sm/Equivalent weight

(D)warAT==ar/Normality

44, Tt R W RS @ 70 T A FT Ioadad o7 60° § 31 D &1 9 IR & 4.6 Hex
gl W 1 A A S gl

The angle of elevation of a ladder leaning against a wall is 60° and the foot of the ladder is
4.6 m away from the wall. The length of the ladderis ........................

(A) 2.3 #fret/m
(B) 4.6 #ex/m
(C) 9.2 #rex/m
(D) 18.4 #ex/m

45.%ﬁmﬁwmga?a:rﬁmmm,3@ ...... el ST B

The limit within which Hook’s law holds good is known as
(A) wra fag/Yield point
(B) ek #rAT/Euler’s limit
(C) venfEes #rA/Plastic limit

(D) gcarey drAr/Elastic limit
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46. ST FHT AT ... & Tl & T fhar S &/Water is used to extinguish ................
(A) T ‘dr3fFa/Class ‘B’ fire
(B) @@ ‘w31f3a/Class ‘A’ fire
(C) ast “&@r31fa/Class ‘C’ fire
(D) s & &1 ot sigi/None of these

A7. St del & v aTRd w18 @& g B 3T AT F afdd far S g, Peafaf@a daf & @ @
39gFd &7
Which among the following centres is suitable when workpiece held between centres is to
be turned at high speed?

(A) aftsrrHT g/Revolving centre
(B) ursu g/Pipe centre
(C) 3r¢f &g/Half centre

(D) ster shg/Ball centre

48. &t #13uT, HrE G5 AR T Sl HaoleT H FERE W & AT ygEd o9 & ey a7

FET ST gl
The part of a lathe used to control the horizontal feed, cross feed and screw cutting
movement is called.........

(A) tws1/Apron

(B) ra Tamss/Cross slide
(C) Tereetan/Tailstock

(D) s¥efs/Headstock

49. ygar & AT fhw arv B 1 a31 X & AT SgFT suSHOT A gl ST 2

A tool, which is used to enlarge a previously drilled hole is known as ...............
(A) aua-3tteR/Boring tool
(B) wia-3iem/Form tool
(C) adt-3iaR/Turning tool
(D) 7@#-3ieR/Facing tool

11



50. veh IO R aEJ 1 Bl (o) har ST=Tm &1 58 ... R Il AT g
An angular workpiece is to be faced. It should be mounted ................

(A) =rere/in a collet

(B) ™ & =s/on a Three jaw chuck
(C) 7@ uefear/on a face plate

(D) &gt & sra/between centres

51. &g W RGN §o ... %1 JUEther g/Force acting on an object is the product of

(A) gegareT 3R 3aar/Mass and Velocity

(B) gegarer 3R caxur/Mass and Acceleration

(C) gegar 3R geica/Mass and Density

(D) gegarer AR 3madsi/Mass and Volume

(A) fafarse aacal/Specific Gravity
(B) 3madst/VVolume

(C) pH

(D) aot 3erar/Colour Intensity

53. frAtaf@d # & @i Teh ‘Aol F&T 3uaor 6 872
Which of the following is not a ‘Personal Protective Equipment’?
(A) Sreratf¥a/Desiccator
(B) vu=1/Apron
(C) «af&a/Respirator

(D) =iterew/Goggles

12



54. 3PR 400mmZeITtheld Tdg W 6uUmM & MNgT A § @ w1 [T fFar smar O

AT der &1 gegATeT ... mg grem| de &1 fafise geea 19.328)
If Gold is deposited on a surface of 400mm? area, to an average thickness of 6um, the mass
of deposited Gold would be ..................... mg. The specific gravity of Gold is 19.32.

(A) 22.88
(B) 35.79
(C) 46.37
(D) 57.96

55. U GfeFd # al AT Hioiehl & che-T-thg I S &I gl &I ... FHgl Sl g

The centre to centre distance between two consecutive rivets in a row is called.........
(A) f=/Pitch
(B) 3t ems«1/Gauge line
(C) fa=rot fa/Diagonal pitch
(D) = fa/Back pitch
56. sgReT & T ewFaAreT ... & HROT 3UAT HIT ST 8/
Teflon is used for bearings because of .........
(A) feie=t ador aromeR/Low coefficient of friction
(B) g FsAT &1g/Better heat dissipation
(C) & St oi=t/Smaller space consideration
(D) 3ud=a @efi/All of the above

57 oo FEfAAToT gfthar 8, S @98 A eI FaTAT IcUoed AL B
The manufacturing process which can produce least surface roughness is ........

(A) g&# u¥or/Lapping

(B) amureA/Honing

(C) ser=tr awor/Cylindrical grinding
(D) gedra =¥ur/Surface grinding
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58.

59.

60.

........ & U 9aTd W TR oA e &/
Hardening on a material isdone .................

(A) 3178 aT3it & shelel 19T F==1/To enable it to cut other metals
(B) Shufer &t Aehat/TO resist wear

(C) &t 3ueEanil g 3ugerd =11/ To make it suitable for cutting tools
(D) 3ugea wsii/All of the above

18/8 z&qrd #H ............ &/
18/8 steel contains ..............

(A) 18% Ni 31R/& 8% Cr
(B) 18% Cr 31R/& 8% Ni
(C) 18% Ni 3iR/& 8% V
(D) 18% V3iR/& 8% Cr

Teh IUER AT & IER, ... 3UERT & Foleh 3 3UEHT & YR § AT oo & o Sl
HI0T Bl

In a tool nomenclature, the angle between the face of the tool and a plane parallel to the
base of the tool is ................

(A) ¥eT =nruT/Rake angle
(B) &1 ®R =iuT/Cutting edge angle
(C) 3iaxrer sror/Clearance angle

(D) 3Taraw =ivr/Relief angle

. Teh AU 9 @l ... & foaw gged faar sirar &/A drill press is used for
(A) gaer=/Drilling
(B) #fgur/Boring
(C) f&gay¥=/Reaming
(D) 3wd=ra @ef/All of the above
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62. 58 A FleT AT giFd =6l &/Which of these is not arelief device ?

(A) grem area/Safety valve
(B)drc area/Gate valve

(C) afaegrur f3&w/Rupture disc
(D) #raer area/Relief valve

63. T 3-get &1 3gAT . & forw fosar et g/A tri-square is used for
(A) FaTaReRdr @ sirg #tet/Checking parallelism
(B) amt & = Fr sitg a=1/Checking the pitch of a thread
(C) ateRar #r sira sx=/Checking squareness
(D) 3ud=a & & #1$ o =i€i/None of the above

64. Arfaf@a & #ia s T fies &/
Which one of the following is a type of permanent fastener?

(A)sFRer "@fa/Knuckle joint

(B) Frerr wfe/Riveted joint

(C) welwst gaa=1/Flange coupling
(D) svrex w@fa/Cotter joint

65. Tifgd fhT S arer Ao 39 ... g, a0 39ANT &q 39T 9 aTfous 1 wg= fohar Sireem|
Open pan evaporators are preferred to be used, when the solution to be concentrated is.........

(A) ereset/Scaling

(B) wamdt/Corrosive

(C) 31fa eam=1/Highly viscous
(D) wravfa/Salty
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66. 100f@Afe#er @1 v <for =aw 2100rpm WX ool W@ g1 9fd @Ade X g o1 @1 gar
ST |
A grinding wheel of 100mm is running at 2100rpm. Find out the surface speed in meter per
minute.

(A) 660 #rex gfa fA=Tc/m/min

(B) (B) 1047 #Hrex gfa fAsie/m/min
(C) 66 #rex fa fAstc/m/min

(D) 6.6 #Hrex ufa fAsre/m/min

67. 51l # 3T dAI9ATA T AT el & T g 3uaor ... gl
The instrument used to measure high temperature in the furnace is

(A) SsHMEMG/Calorimeter

(B) argaredTdl/Barometer
(C) zargaTd/Pyrometer

(D) argaTdi/Thermometer

68. 63fAfarEer & Fer3iR200fATHIY d& Fursdl & URUT & & fov Aeafaf@a & fhaer g3
fpar Srar 87
Which one of the following is used for holding pipes more than 63mm and upto 200mm

(A) ursa fRrskeat/Pipe vice
(B) ursg R=a/Pipe wrench
(C) 9«1 ursg RIsw=an/Chain pipe vice
(D) we ®e Rea/Foot print wrench
69. a¥oT & Y Jtah H geET & v frwwr ST R ST §?
While Grinding, which is used to protect eyes?

(A) Trexr g sa/Dark green glass
(B) gam #wler/Safety mask
(C) efraater &a/Cooling glass

(D) grew irerew/Safety goggles
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70. sre 9= I & T @ Ao ¥ g fRar ST Bl
The pitch diameter of the external screw thread is checked by

(A)d= T 51/Screw pitch gauge

(B) =gr Rer arai/Thread ring gauge

(C) o= ggr gesaTd/Screw thread micrometer
(D) afe=x &faax/Vernier caliper

71. ... # gRa1 Tolie 1 39AeT giar §/Duhring’s plot is of use in.....

(A) "gastst/Condensation
(B) arsusi/Evaporation
(C) 3raenor/Absorption
(D) fe¥atrersi/Leaching
72. 38R A:B, 3:4 3k B:C, 2:7¢, ar A:B:C frdar &/
If A:Bis 3:4 and B: C is 2:7, what is A:B:C?

(A) 4:3:21
(B) 3:8:14
(C) 14:4:3
(D) 3:4:14

73. QY #H 3T (BrA) AR & 3cutes & U vgeFa R S gl

In lathes, Form Tools are used to produce

(A) searaRR a1 euxor Ifga adgt/Surfaces which are neither cylindrical nor tapered
(B) =ger #agl/Threaded surfaces

(C) cuika wagi/Tapered surfaces

(D) searehR "dgi/Cylindrical surfaces

74. aredta fapfa ik e Refa & oo a1 . FET ST gl
The ratio of lateral strain to the linear strain is called

(A) cardt 3tqard/Poisson's ratio
(B) 3madeT yegreyar Jonsr/Bulk modulus
(C) =ar &1 9omsh/Young's modulus

(D) zears/Modulus of rigidity
17



75. fFafafad & Sl T FAradr sfafsear g/
Which of the following is an exothermic reaction?

(A) Ster-3rqees1/Hydrolysis

(B) % @1 arerA/Melting of ice

(C) g1 f&@fwar/Combustion reactions
(D) fmifder @1 Fau=/Boiling of kerosene

76.9%ey Ay A SIEIMAT AT &1e, HYUT Al R 38T AT A S HT 9109 38 ... Fgdd o

Pressure applied to a confined fluid increases the pressure throughout by the same amount.
Thisisknownas ............

(A) g% @ fagura/Hook's principle
(B) =ge=1 = f@eara/Newton's principle
(C) snfreEer & faga/Archimedes principle

(D) urewer &1 fAgurda/Pascal s principle

77.LMTD &1 3 § ........ /LMTD stands for

(A) dier #Hier greafaee fBwea/Log mean transmission difference
(B) @t #e cFaar fswi=a/Log mean temperature difference
(C) fafacs grmy=r f3wi=a/Limited temperature difference

(D) 39d=a # @ &1$ 8 =€i/None of the above

78. SHIGROT &Y -7 {ew & v Aregd it ST F87 gt 87
Which mode of heat transfer does not require a medium?

(A) =merst/Conduction
(B) fafetur/Radiation
(C) sag=1/Convection
(D) 3wd=a # & =S 8 =gi/None of the above
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79. frafaf@a gargaArdy I3t # & HleT Th &7 ATdr g7
Which of the following flow meter instrument is an area meter?

(A) dcd dR gasraerATg/Hot wire anemometer

(B) JrerATd/Rota meter
(C) =gdrardi/Venturi meter

(D) drei=ent/Pitot tube
80. 3rANTIT HhIUHI HTAFARIOT @RI, ATSfeeh el & 3cleal g Hisl-A Fishar &1 3uer fohar
ST 87
Which process is used for the production of nitric acid by the catalytic oxidation of
ammonia?
(A) grex/Harber
(B) |rea/Solvay
(C) 3ir¥eares/Ostwalds

D) =& & &5 & =1gi/None of these

*khkhkhkhkk
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